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Time : 3 hours
Full Marks : 80

Candidates are required to give their answers in
their own words as far as practicable.

The questions are of equal value.

Answer any five questions in vghich
Q. No. 1 is compulsory.

b Chmsé the correct alternative of the following :
(a) The right most bit in a data word is called :_
() Most Significant bit
(i) Least Significant bit
(iii) Dirty bit
(iv) Access bit
(b) Magnetic tape is an example of :
() Sequential access
(i) Random access
(iii) Both (i) and (ii)
(v) None of these
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¢. Discuss the various Generation of Comp.ute,
along with the key characteristics of the
computers of each generation. '

8 What is Network Topology ? Explain various
Network Topologies with their advantages and
disadvantages. ‘

3. Wiite short notes on any two of the following :
() Classification of Computers
() Parallel Computers
() Time Sharing Operating System
(v) Communication Channel
(v)  Communication Protocols
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